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1. (15%)
2. (15%)
3. (15%)
4. (15%)
5. (20%)
6. (20%)

Solve the initial value problem.
xXy-xy'=0; p(2)=9,y'(2)=8

Find the general solution of ‘

y”+4y x+e —3x

SRS

Find the Fourier series of the function on the interval.

f(x)=1 -1sx<1

Use the Laplace transform to solve the system.
2x'-3y + 2 y'— 0

xﬂ-y =1
x(0) = y(0) ;‘0'

Solve the boundary value problem

2
Qﬂ—ké—— for 0<x<L,t>0

ot ox2
o 0,0 = ?ﬂ(L )=0 for >0
ox

u(x,O)Q_ f(x) for 0<x<L

(a) Determine whether F  is conservative.
(b) If it is, find a potential function (¢)

() Evaluate CLF -dr for
Cc any path from pomt p4 topoint pg.
F=3x*0* —4y)t+(2x y- 4x )Jj
pa=(-11)
Pg= (2’3)
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